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Find the triangle  (?)

1. 28
2. 25
3. 26
4. 27



Find the missing (?)

25 : 600 :: ? : ?

1. 16 : 256
2. 18 : 306  
3. 20 : 420
4. 14 : 210



Which number will replace the question mark ?

(A) 132 (B) 130
(C) 120 (D) 126

13 76 57

24 63 83

24 117 ?



Arrange the words given below in a meaningful sequence.

1. Return Journey / वापसी का सफर
2. Travel Arrangement / यात्रा व्यवस्था
3. Hotel Stay / होटल में रहना
4. Sightseeing / पययटन स्थलो ोंका भ्रमण
5. Reaching Destination /गोंतव्य तक पहुँचना

A.2, 5, 3, 4, 1     
B.2, 4, 3, 1, 5
C.1, 3, 2, 4, 5
D.4, 3, 1, 5, 2



Statement :-

Some children are clever./ कुछ बचे्च चतुर होते हैं।

All children are honest./ सभी बचे्च ईमानदार हैं।

Concluion :-

Some Cleaver are children./ कुछ चतुर बचे्च हैं।

Some honest are children./ कुछ ईमानदार बचे्च हैं।

Some clever are honest ./ कुछ चतुर ईमानदार हैं।



Find the option which should replace (?)

6 * 3 = 13   

5 * 20 = 96

19 * 11 = ?

(A) 191

(B) 194

(C) 207
(D) 209



Find the Missing one  (?)

22 : 14 :: 32 : ?

(A) 19

(B) 15

(C) 12

(D) 10



Find the missing term(?)

11 : 8 :: 15 : ?

(A) 30

(B) 25

(C) 18
(D) 12



Find the missing term(?)

19 : h :: 20 : ?

(A) a

(B) b

(C) c
(D) d



Find the missing term(?)

6 : 27 :: 10 : ?

(A) 115

(B) 145

(C) 105 
(D) 125



Find the missing term(?)

5 : 21 :: 7 : ?

(A) 25

(B) 49

(C) 43

(D) 30



Your age is 10 years less than half of your mother’s age . Mother is 5 years 

younger than your father , if your father is 45 years old , then what is your 

age ?

आपकी उम्र आपकी माुँ की उम्र के आधे से 10 साल कम है। माुँ आपके पपता से 5 साल

छोटी है, अगर आपके पपता की उम्र 45 साल है, तो आपकी उम्रक्या है?

(A) 20 years

(B) 15 years 

(C) 10 years 

(D)  5 years 



Q.In ASEAN Summit, all leaders shake hands with each other once. How many 

handshakes will there be altogether if there are 15 leaders?
आपसयान पिखर समे्मलन में, सभी नेताओों एक बार एक-दूसरे के साथ हाथ पमलाते हैं। 15 
नेता हैं तो पकतने हैंडिेक हो ोंगे? 
(A) 105 (B) 85

(C) 75 (D) 100



Q. Mukesh is 40 years old and he is five times as old as his brother Rohit. 

When Mukesh is thrice as old as Rohit then age of Mukesh is
मुकेि 40 सालका हैऔर वह अपने भाई रोपहत से पाोंच गुना बड़ा है। जब मुकेि रोपहत से

तीन गुना बड़ा है तो मुकेिकी उम्र है-
(A) 44 years (B) 46 years

(C) 48 years (D) 40 years



A school has 2100 students. For every 20 students 

there is one class monitor. The number of monitors in 

the school is
एक सू्कल में 2100 छात्र हैं। प्रते्यक 20 छात्रो ों के पलए एककक्षा का

मॉनीटर होता है। सू्कल में मॉनीटर की सोंख्याक्या है-
(A) 100 (B) 75

(C) 80 (D) 85



In an examination, a student scores 4 marks for every correct answer and

loses 1 mark for every wrong answer. If he attempts in all 60 question and

secures 130 marks, the number of question he attempts correctly, is
एक परीक्षा में, एक छात्र प्रते्यक सही उत्तर के पलए 4 अोंक स्कोर करता है और हर गलत

उत्तर के पलए 1अोंकखो देता है। यपद वह सभी 60 प्रश्ो ोंमें प्रयासकरता हैऔर 130अोंको ोंको
सुरपक्षत करता है, तो उस के सही प्रश्ो ोंकी सोंख्याक्या होगी-
(A) 35 (B) 38

(C) 40 (D) 42


